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NOTES REGARDING REVISED TABLE 1

1. If we remove the cost of money from the annual costs, theequivalent annual costs become

A = 1,371,436

B = 1,337,185

C = 1,207,665

operating savings of $163,771
If we assume 4% inflation, this

3 million dollars over the life

2. More importantly, at the end of the life of each of theother alternatives, a new facility will to beconstructed. Assuming 4% inflation holds for
and a building is constructed such as the one
construction cost factors would be:

15 year @ 4% inflation factor = 1.801

33 year @ 4% inflation factor = 3.648

After 15 years the building would cost

1.801 x 4,445,550 = $8,006,640.00

After 33 years the building would cost

3.648 x 4,445,550 = $ 16,217,370

These would both be 55 year useable life buildings.
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